LIXIN AUTO PARTS CO., LTD.

TIE ROD END

Export Manager: Sylvia Sun (Wujing Sun)
Email: sylvia@lixin-spareparts.com

Cell:0086-15860715716

Tel: 0086-595-85585552 0086-592-6030748
Fax: 0086-595-85520966 0086-592-6030748
Web: www.lixinforging.com

www.lixin-tierodend.com

ADD: 362271, 47#, Industry Road, Tatou Sun Village, Dongshi Town, Jinjiang City, Fujian Province, China

. Model Chinese English OEM No.
Picture . Remarks
No. name name Drawing No.
FOR BENZ
000 460 6948
000 460 5848
000 460 6148 L=145
000 460 7148 M30%1.5
LAk | drag/tie rod 001 460 1248 ’
LX-B203 m24*1.5
(/%) end (L/R) 000 460 6848 K30
000 460 5748 -
k=027
000 460 6048
000 460 7048
001 460 1148
FOR VOLVO
L=124
@O 1698846 M30*1.5
- 1698847 m20*1.5
1505759 '
(f B 1505758 K=29.3
LX-V008 |Bkizzk S pk|  ball joint 1507823 k=24
1507822 MODEL: F7-F10-F12-
e ——————— 1698532 F16,FL616-617-FL7-
1698533 FL10 FL12-FL616-

FL617,N7-N10-N12

FOR MAZ




Picture

Model Chinese

No. name

English

OEM No.
Drawing No.

Remarks

@ Q
s tie rod end L=190 MM
; RS 24 ik B -
ﬂ LX-MZ002| BR4z3L 2 pk assembly 6422-3003056-10 M39%27
| mwmmcaim esnminsion |
FOR ISUZU
O L=220
M58x1.5
LX-1S001 MEHiFFERS| tierod end 1-43150-856-0 m24x1.5
MUK GHD assembly 1-43150-857-0 K=32
k=29
MODEL:51L
L=171.5
1-43150-801-1 M58x1.5
HEFFTERSL| tie rod end 1-43150-802-1 m24x2
LX-1S002 | 77, .
B assembly 1-43150-801-0 K=32
1-43150-802-0 k=29
MODEL: 10PE1
L=230
M58x1.5
FERi A ERSL| tie rod end m24x2
LX-1S003 | 77, .
)52 assembly K=32
k=29
MODEL: CE-8617R/L
L=155
M38x1.5
iso0s | BEHLFFERSK| tierodend | 1-43150-670-0 m2£>l<x2
B assembly 1-43150-671-0
K=28
k=25.5
=172
& . . . M36x1.5
Lx-is00s | PALATERSK| - tierodend |y oy ch 101 M24x1.5
: FSY59 assembly
s K=32
k=29




Picture

Model
No.

Chinese
name

English

OEM No.

Drawing No.

Remarks

L=158

‘ . M38x1.5
LX-1SO06 REhiAFEksk| tierodend 1-43150-545-1 12452
- ISy bl 1-43150-545-2
1579 assembly K=28.6
k=25.5
L=169.5
M50*1.5
FERi FFERSL| tie rod end 1-43150-630-0 m24*2
LX-1s007 | AT
B assembly 1-43150-631-0 K=32
k=29
MODEL: CXZ,10PC1
@ Q
" =157
— M24*1.5
SKEERSL|  tie rod end
LX-I1S008 *ﬁhfﬁéj%* ;:ngln CE-5111 m16*1.5
o ¥ K=22.3
k=20
T g—
1-43150-349-0
@0 1-43150-349-1 160
1-43150-563-1 M_5 015
A 8 WahiFFERSL| tierod end 1-43150-630-1 :
LX-Is009 | PHHLAT> m24*2
: j=§:% assembly 1-43150-350-0 K=D32.5
- 1-43150-350-1 |:— @29'
1-43150-564-1 -
1-43150-631-1
@ QO
L=85
M20*1.5
FERiFFERSL| tie rod end 8972225090
LX-15010 | =y assembl 8972225100 m16*1.5
= Y K=018
k=020
D.D.=720
m1=17.8*1.5
k1=20
sk | draglink
LX-1S011 *ﬁ%ﬁ‘“ asrsaegmll:I 8971701600 | ball stud rod=50mm
4 m2=17.8*1.5
k2=20

ball stud rod=24mm




. Model Chinese English OEM No.
Picture . Remarks
No. name name Drawing No.
D.D.=740
m1=17.2*¥1.5
k1=20
A R d link
LX-1S012 %%f“ asr:egm'gl 8970887790 m2=17.8%1.5
Y k2=20
ball stud rod not
| msomsco.im s owmiin | equal
@0 D.D.=730
m1=18*1.5
BRI S drag link k1=22.8
LX-1S013 | 7
59 assembly m2=18*1.5
k2=22.8
e i | ball stud rod equal
FOR HINO
@ O 45420-1600
45420-1611 L=205
45420-1690 M44x2.0
LX-HNOO1 *ﬁ?jﬂf;ﬁ% tie rod end 45420-1550 m20x1.5
)52 assembly 45430-1600 K=28
45430-1611 k=25.5
ﬂm 45430-1690 MODEL: EF750
45430-1550
= Oy
4 L=204
M44x2.0
FahiAFERSL| tierod end m20x1.5
LX-HN0O2| ™)
BUR assembly K=28
k=25.5
TR MODEL: AK3H
| swesmrmomacomsucininan |
@ D
L=244.5
M44*2.0
LX-HNOO3 WahiFFERL| tierod end 45420-2740 120% 15
552 assembly 45430-2740 '
K=28
k=25.3

FOR NISSAN




Picture

Model Chinese

No. name

English

OEM No.

Drawing No.

Remarks

L)
@

TIEACD B

BERLATBR L

LX-NS001 B

tie rod end
assembly

48570-90214
48571-90205

L=157
M44*1.5
m24*1.5

K=30
k=27
MODEL: RG

LEDRIEE SR

LX-NS002 Py

tie rod end
assembly

48570-90218
48571-90218

=218
M56x1.5
m24x1.5
K=30
k=27.2
MODEL: CW520,N/S
CW46,CW54,RF8
CAR NAME:DATSUN

BERLATER K

LX-NS003 S

tie rod end
assembly

48570-90212
48571-90212

L=193
M44x1.5
m24x1.5

K=30
k=27.5
MODEL: N/S,CPB
15,CW53

BERLATBR L

LX-NS004 B

tierod end
assembly

48570-00Z05
48571-00Z05

=218
M49x1.5
m24x1.5
K=30
k=27
MODEL:CW450

FOR MITSUBISHI FUSO

e

TIERCD END

AMEN JH TRADING COL LTDL 8.0 AR LT

BT BR K

LX-MT001 Py

tie rod end
assembly

MC-812879
MC-812880
MC-806279
MC-806280

L=172
M42x1.5
m24x1.5

K=25.7

k=23.5

MODEL: Fv413




. Model Chinese English OEM No.
Picture . Remarks
No. name name Drawing No.
T O MC-891872
MC-891873 L=219
MK-488261 M42x1.5
LX-MTO02 *ﬁi‘zﬁﬁ%% tie rod end MK-488262 m14x1.5
)5 assembly MC-891862 K=30
MC-891861 k=27.5
MK-448262 MODEL: FV515
MK-448261
=0 L=219
M42*1.5
24*1.5
enroro| BEHLFFER K| tie rod end MC-891785 mK_30 ;
p=y57 assembly MC-891784 T
k=27.7
MODEL:FP,FV515,6D2
4
L=80
s . M15.8*1.5
x-Hpoo1 | LTSk | - tie rod end 56882-44000 m11.5%1.5
557 assembly
K=16
k=11.5
L=115
FEHiFFERSL| tierod end M28*1.5
LX-HDOoO2| ™+ 56890-6B000
B assembly m17.8*1.5
k=19.7
L=100
M20%*1.5
IAFERSL|  tie rod end
Lx-Hpoo3| PAHLITHK| - tierod en 56890-45000 m14*1.5
R assembly K19

k=17.8




. Model Chinese English OEM No.
Picture . Remarks
No. name name Drawing No.
a L=105
M21.5%1.5
ATERL| tie rod end
Lx-HDoo4| FHLITRK| - tierod en 56880-5H000 m13.5%1.5
)52 assembly
K=18.7
k=21
OTHERS
L=140
MEHiFFERS| tierod end M27.8*1.5
LX-0T001| ™0
)57 assembly m21*1.5
k=25

Note: We are welcome your customized order accroding to your drawing or sample based on our full

equiped forging and machining ability. Welcome to inquiry us.




